
S.No. Language Question Option 1 Option 2 Option 3 Option 4

1 English The number of elements of order 10 in Z40 will be 4 6 8 10

Hindi Z40 मɅ Đम 10 के अवयवɉ कȧ सÉंया होगी 4 6 8 10

2 English
If Ø is a homomorphism from Z30 onto a group of 

order 5 then ker Ø will be of order
4 6 8 10

Hindi
यǑद Ø, Z30 स ेएक 5 कोǑट के समहू पर एक 
आÍछादक समकाǐरता है तब ker Ø मɅ अवयवɉ 4 6 8 10
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Hindi आÍछादक समकाǐरता है तब ker Ø मɅ अवयवɉ 
कȧ सÉंया होगी

4 6 8 10

3 English
 will be

1 2 3 4

Hindi  
का मान होगा

1 2 3 4

4 English Which of the series is convergent?

Hindi कौन सी Įेणी अͧभसारȣ है?

5 English Rank of the matrix                       is 1 2 3 0

Hindi आåयूह            कȧ रɇक (कोǑट) होगी 1 2 3 0

6 English                            will be e 1/e 2e 0
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Hindi               का मान होगा e 1/e 2e 0

7 English The value of                                        will be ab a2+b2 None of these

Hindi                    का मान होगा ab a2+b2 इनमɅ स ेकोई नहȣं

8 English
Solution of differential equation (y-px) (p-1)=p 
will be

(y-px)(p-1)=2 (9y-cx)(c-1)=c (x-2)(y-4)=5 (x-cy)(c-1)=c

Hindi अवकल समीकरण (y-px) (p-1)=p का हल होगा (y-px)(p-1)=2 (9y-cx)(c-1)=c (x-2)(y-4)=5 (x-cy)(c-1)=c

9 English Centre of the sphere x2+y2+z2-6x+8y-10z+1=0 
will be

(3,-4,5) (-3,4,5) (3,4,-5) (-3,-4,-5)

Hindi गोले x2+y2+z2-6x+8y-10z+1=0 का केÛġ होगा (3,-4,5) (-3,4,5) (3,4,-5) (-3,-4,-5)

10 English If f (x,y,z) = 3x2y-y2z2, then grad f at the point (1,- i+J+k 2i+3J+4k 12i-7J-8k
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10 English If f (x,y,z) = 3x y-y z , then grad f at the point (1,-
2,-1) will be

i+J+k 2i+3J+4k 12i-7J-8k

Hindi यǑद f(x,y,z) = 3x2y-y2z2 तब (1,-2,-1) पर Ēेड f 
का मान होगा i+J+k 2i+3J+4k 12i-7J-8k

11 English What is the size of colloidal particles? 10-20 nm More than 20 nm Less than 10 nm 30 to 50 nm

Hindi कोलॉइडी कणɉ का आकार ͩकतना होता है? 10-20 एनएम 20 एनएम से अͬधक 10 एनएम से कम 30 स े50 एनएम

12 English
In a dry cell, which of the following is the 
electrolyte?

Potassium hydroxide Sulphuric acid Ammonium chloride Manganese dioxide

Hindi
एक शçुक सेल मɅ, Ǔनàनͧलͨखत मɅ स ेकौन सा 
इलÈेĚोलाइट है?

पोटेͧशयम 
हाइĜोÈसाइड सãÝयǐूरक एͧसड अमोǓनयम Èलोराइड मɇगनीज 

डाइऑÈसाइड

13 English
Which of the following is the simplest member of 
organic compounds?

Formic acid Formaldehyde Methane Methanol

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन सा काब[Ǔनक यौͬगकɉ 
का सबस ेसरल सदèय है?

फॉͧम[क एͧसड फॉम[लͫडहाइड मीथेन मेथनॉल

14 English
Organic compounds can be classified even based 
upon the function groups. Which of the following 
is not a functional group?

Isocyano Carbonyl Isocyanide Carboxyl

-12i+7J+8K 

-12i+7J+8K 



Hindi
काब[Ǔनक यौͬगकɉ को काय[ समहूɉ के आधार पर 
भी वगȸकृत ͩकया जा सकता है। Ǔनàनͧलͨखत 
मɅ स ेकौन-सा ͩĐया×मक समहू नहȣं है?

आइसोसायनो काबȾǓनल आइसोसाइनाइड काबȾिÈसल

15 English Which one of them is not a protein? Wool Nail Hair DNA
Hindi इनमɅ स ेकौन सा Ĥोटȣन नहȣं है? ऊन नाखून बाल डीएनए

16 English Amino acids are the building blocks of Carbohydrates Vitamins Fats Proteins
Hindi अमीनो एͧसड के Ǔनमा[ण खंड हɇ काबȾहाइĜटे ͪवटाͧमन वसा Ĥोटȣन

17 English
Which of the following is the central atom / ion 

in [CoCl(NH3)
5]+2 ? 

Co Co+2 Co+3 Cl-

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन सा [CoCl(NH3)

5]+2 मɅ 
ĐेÛġȣय परमाण ुहै?

Co Co+2 Co+3 Cl-

18 English
Detergents are prepared by the action of H2SO4  
on which of the following?

Cholesterol Lauryl alcohol Cyclohexanol p-Nitrophenol

Hindi
Ǔनàनͧलͨखत मɅ स ेͩकस पर H2SO4 कȧ ͩĐया 
ɮवारा ͫडटजɏट तयैार ͩकए जात ेहɇ? कोलèेĚॉल लॉǐरल अãकोहल साइÈलोहेÈसानॉल p-नाइĚोफेनोल

19 English The correct order of electronegativity is Cl> F > O > Br F > O >Cl> Br F >Cl> Br > O O > F >Cl> Br19 English The correct order of electronegativity is Cl> F > O > Br F > O >Cl> Br F >Cl> Br > O O > F >Cl> Br
Hindi वɮैयुतीयऋणा×मकता का सहȣ Đम है Cl> F > O > Br F > O >Cl> Br F >Cl> Br > O O > F >Cl> Br

20 English Which of the following cannot be a ligand? Ni2+ Cl– H2O NH3

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन ͧलगɇड नहȣं हो सकता 
है? Ni2+ Cl– H2O NH3

21 English

The moment of inertia of a ring of mass M and 
radius R about an axis passing through its center 
and perpendicular to its plane is I. The moment 
of inertia about any of its diameter is

I I/2 I/4 I+MR2

Hindi

M ġåयमान तथा R ǒğÏया के एक वलय कȧ 
उसके तल के लàबवत कɅ ġ स ेगजुरने वालȣ अ¢ 
के पǐरतः जड़×व आघणू[ I है उसके ͩकसी åयास 
के पǐरतः जड़×व आघणू[ है

I I/2 I/4 I+MR2

22 English
The correct expression to find out degrees of 
freedom (n) in terms of γ= Cp/Cv is

 n= 2/((γ-1))  n= 2/((γ+1))  n= 1/((γ-1)) n= 1/((γ+1))

Hindi
γ= Cp/Cv के पदɉ èवातÛğय कोǑट कȧ सÉंया (n) 
का सहȣ åयंजक है  n= 2/((γ-1))  n= 2/((γ+1))  n= 1/((γ-1)) n= 1/((γ+1))



23 English
The temperature coefficient of resistance of a 
pure semiconductor is

Zero Positive Negative Size dependent

Hindi एक शɮुध अध[चालक का ĤǓतरोध ताप गणुांक है शÛूय धना×मक ऋणा×मक आकार आधाǐरत

24 English

Two parallel conductors separated by a distance 
2r carry current I in the same direction. The 
intensity of the magnetic field midway between 
them is

Zero μ0 I/r 4μ0 I/r μ0 I/4r

Hindi
2r दरूȣ पर िèथत दो समाÛतर धारावाहȣ चालको 
मɅ I धारा समान Ǒदशा मɅ ĤवाǑहत हो रहȣ है. तारɉ 
के मÚय ǒबदं ुपर चàुबकȧय ¢ेğ कȧ तीĭता होगी

शÛूय μ0 I/r 4μ0 I/r μ0 I/4r

25 English
Which law is used for achieving the relation 
between the Einstein’s coefficients?

Heisenberg’s 
Uncertainty Principle

Planck’s radiation 
law

Einstein’s 
Photoelectric 
equation

Ohm’s Law

Hindi
आइÛèटȣन Ǔनयतांको के मÚय सàबÛध ĤाÜत 
करने के ͧलए ĤयÈुत Ǔनयम है

हाइजेनबग[ 
अǓनिæचतता का 
ͧसÚदांत

Üलांक ͪवͩकरण 
Ǔनयम

आइÛèटȣन Ĥकाश 
ͪवɮयुत ्समीकरण ओम का Ǔनयमकरने के ͧलए ĤयÈुत Ǔनयम है अǓनिæचतता का 

ͧसÚदांत Ǔनयम ͪवɮयुत ्समीकरण ओम का Ǔनयम

26 English
Two photons are moving towards each other with 
velocity c. Their relative velocity will be

0 c 2c  √2c

Hindi
दो फोटोन c वेग स ेएक दसूरे कȧ ओर गǓतशील 
है उनका सापे¢ वेग होगा 0 c 2c  √2c

27 English
The basic principle of fibre optical 
communication is

Frequency 
modulation

Population inversion
Total internal 
reflection

Doppler Effect

Hindi ऑिÜटकल फाइबर सचंरण का मÉुय ͧसɮधांत है आवǓृत मोडुलन जनसÉँया उ×Đमण पणू[ आतǐंरक 
परावत[न डॉपलर Ĥभाव

28 English
The Lagrange’s equations of motion are 
differential equations of order

first second zero fourth

Hindi गǓत का लĒैजेंज समीकरण अवकल समीकरण है Ĥथम आड[र का ɮͪवतीय आड[र का शÛूय आड[र का चतथु[ आड[र का

29 English
In an x-ray tube, x-rays are produced by electrons 
accelerated by V volt. The maximum frequency 
of x-rays produced is

eVh eV/h eh/V h/eV

Hindi

एक एÈसͩकरण नͧलका मɅ एÈसͩकरण उ×पÛन 
करने के ͧलए इलÈेĚानो को V वोãट स े×वǐरत 
ͩकया जाता है उ×पÛन एÈसͩकरण कȧ अͬधकतम 
आवǓृत है

eVh eV/h eh/V h/eV



30 English The reciprocal lattice to a simple cubic lattice is bcc fcc simple cubic hcp

Hindi एक सरल घनीय जालक का उ×Đम जालक है अÛतः केिÛġत 
घनीय जालक (bcc)

फलक केिÛġत 
घनीय जालक (fcc)

सरल घनीय जालक 
(sc)

षटकोणीय Ǔनͪवड़ 
सकुंलन (hcp)

31 English
For estimation of heat capacity of a solid 
compound, one can use

Clapeyron’s equation Gigg’s equation Kopp’s rule Trouton’s rule

Hindi
तापीय धाǐरता को मापन ेके ͧलए Ĥयोग ͩकया 
जा सकता है Èलेपीरान समीकरण ͬगÊस समीकरण कोप का Ǔनयम Ěाउटन का Ǔनयम

32 English
Which of the following can change if only the 
catalyst is changed for a reaction system?

Enthalpy of reaction Activation energy
Free energy of 
reaction

Equilibrium constant

Hindi
एक अͧभͩĐया मɅ उ×Ĥेरक के बदलने स ेÈया 
बदल सकता है

अͧभͩĐया कȧ 
तापीय धाǐरता सͩĐमण ऊजा[ अͧभͩĐया कȧ मÈुत 

ऊजा[ सतंलुन िèथरांक

33 English The operation of a rota meter is based on variable flow area rotation of a turbine
pressure drop across 
a nozzle

pressure at a 
stagnation point

Hindi रोटा मीटर कȧ काय[ͪ वͬध आधाǐरत होती है पǐरवत[नशील Ĥवाह 
¢ेğ पर टरबाइन के घूण[न पर नोजल के पार दबाव 

ͬगरन ेपर
ठहराव ǒबÛद ुपर 
दबाव के

34 English
If the baffle spacing in a shell and tube heat 
exchanger increases, then the Reynolds number 
of the shell side fluid

Remains unchanged Increases

Increases or 
decreases depending 
on number of shell 
passes

Decreases

Hindi

यǑद ͩकसी शले व ɪयूब हȣट एÈसचɅजर मɅ बफैल 
èपेͧ सगं बढ़ जाती है तो शले साइड Ýलडू कȧ 

रेनाãडस सÉंया
अपǐरवǓत [त रहती है बढ़ जाती है

शले पासɉ के आधार 
पर कम या अͬधक 
हो जाती है

कम हो जाती है

35 English
Corresponding to Prandtl number in heat transfer, 
the dimensionless group in mass transfer is

Schmidt number Sherwood number Peclet number Stanton number

Hindi
ताप हèतांतरण मɅ Ĥांडल सÉंया के अनǾुप बड़ े

पमैाने पर èथानांतरण मɅ आयामहȣन समहू है
िèमɬट सÉंया शरेवडु सÉंया पकैलेट सÉंया èटानटन सÉंया

36 English
The DCDA (Double Contact Double Absorption) 
process is used for the manufacture of

Urea Sulphuric acid Nitric acid Ammonia



Hindi
डबल सपंक[  डबल अवशोषण ĤͩĐया का Ĥयोग 
बनाने मɅ होता है यǐूरया सãÝयǐूरक एͧसड नाइǑĚक एͧसड अमोǓनया

37 English

Consider the following properties:
(P) Temperature               (Q) Specific gravity
(R) Chemical potential     (S) Volume
The option which lists ALL the intensive 
properties is

P P and Q P, Q and R P, Q, R and S

Hindi

Ǔनàन गणुɉ को देखत ेहुए:
(P) तापĐम          (Q) ͪवͧशçट गǾु×व 
(R) रसायǓनक ¢मता  (S) आयतन
वह ͪवकãप िजसमɅ सभी गहन ͪवशषेतताएं हɇ।

P P और Q P, Q और R P, Q, R और S

38 English
The local velocity of a fluid along a streamline 
can be measured by

Pitot tube Venturi meter Rotameter Orifice meter

Hindi
एक धारा रेखा के साथ एक ġव के èथानीय वेग 
को ͩकसके ɮवारा नापा जा सकता है ͪपटॉट ɪयूब वेचुंरȣ मीटर रोटामीटर ओरͩफस मीटरHindi
एक धारा रेखा के साथ एक ġव के èथानीय वेग 
को ͩकसके ɮवारा नापा जा सकता है ͪपटॉट ɪयूब वेचुंरȣ मीटर रोटामीटर ओरͩफस मीटर

39 English
In order to produce fine solid particles between 5 
and 10 micron, the appropriate size reducing 
equipment is 

Jaw crusher Smooth roll crusher Hammer mill Fluid energy mill

Hindi
5 - 10 माइĐोन के ठोस कण बनाने के ͧलए, 
आकार का उपकरण है जॉ Đशर ͬचकना रोल Đशर हैमर ͧमल ġव ऊजा[ ͧमल

40 English
For what value of Lewis number, the wet-bulb 
temperature and adiabatic saturation temperature 
are nearly equal?

0.33 0.5 1 2

Hindi
लेͪ वस सÉंया के ͩकस मãूय के ͧलये वेट बãब 
ताप एव ंएͫडयाबǑेटक सेचुरेशन ताप लगभग 
बराबर होत ेहै

0.33 0.5 1 2


